=) =1

s[5 . BKERE| KT KT KL RE 2 : E37] E3E] &E aF -
mIwE |  EmETH BT T4 ho)| GEED | s | i | aemwp | e | e | oem) | demw) | m) | e RE BAEE
SLFI HEASX LTHBE2TH 0.80 6 0 0 0 0 0 0 0 6 0[A7 BF149%7A7H
PN HEAX BRITH 1.90 25 0 5 0 0 0 0 0 30 0[3&7 BFN495F 1A 7H
b1l HESX EAR/NH5TH 0.20 0 0 1 0 0 0 0 0 1 037 BF149F 7878
HE AR HRRX =#HERITH 0.00 2 0 0 0 0 0 0 0 2 0] FRF149%8 A 18
JEiRII HEASX R1ITH.RIRITH 0.20 4 0 0 0 0 0 0 0 4 0[3&7 BF149%E8 A 1H
Bl HRRX AFESTH 0.00 4 0 0 0 0 0 0 0 4 NEY FBF149%8 A 18
BRI HEASX %Kk H2:-3TH 0.20 12 0 0 0 0 0 0 0 12 0[A7 BF149%E8 H 148
HE AR HEAX 5352 T Hith 1.20 31 0 0 0 0 0 0 0 31 0[3&7 FBF04958 A 148
JEiR)I HEASX Fi23T H 0.20 10 0 0 0 0 0 0 0 10 0[:&7 #4958 H 148
Bl HRRX EHAT Bith 1.20 46 0 0 0 0 0 0 0 46 NEY FRF149%8 A 148
E3 HEASX R3TH 0.50 34 0 0 0 0 0 0 0 34 0[3&7 BF149%E8 H14H
PN HEAX Z£RH5:6TH 5.50 113 0 0 0 0 0 0 0 113 0[3&7 FBF04958 A 14H
SLFI HEASX HEITH 0.50 3 0 0 0 0 0 0 0 3 0[A7 BF149%E9 A 1H
I HRRX $E2TH 0.70 50 50 0 0 0 0 0 0 50 50|37 FRFI515E9A9H
7)1 HEASX HEITH 0.60 52 52 2 2 0 0 0 0 54 54327 5149 H9E
[5201 HEAX EJI3TH 1.50 20 20 0 0 0 0 0 0 20 20[ A1 BA51E9A9H
)l AR X E2R2TH 0.10 2 2 0 0 0 0 0 0 2 ALSE FBFI51E9A9H
Il HEH&X EZR9TH 0.10 1 1 0 0 0 0 0 0 1 1[P7] FBFI51F9H 9
[ AR X L HER A6 T B 0.10 5 5 0 0 0 0 0 0 5 532 7] BBFI51E9H9H
i1 HESX H1RER A3 T H 0.10 5 5 0 0 0 0 0 0 5 5|5 7] BA51E9A9H
Al HEASX LHERASTH 0.10 5 5 0 0 0 0 0 0 5 5| A BF1514E9 A 9H
i1 HESX H1RERAST B 0.10 8 8 0 0 0 0 0 0 8 8| A7 BA51E9A9H
A HEARX FRE3~6TH 3.30 40 40 5 5 0 0 0 0 45 45[A1] BF1514E9 A 9H
HLF) HESX WE1TH 6.00 50 50 1 1 0 0 0 0 51 51 ;&7 BA51E9A9H
HLF HEASX Ei21TH 6.00 0 0 1 1 0 0 0 0 1 1[4 BF5149H9H
I HESX LHE2TH 4.20 22 22 10 10 0 0 0 0 32 32[3& 7 BA51E9A9H
I HEASX BR4ATH 0.50 9 9 0 0 0 0 0 0 9 9| A BF1514E9 A 9H
I HESX EI&3TH 1.00 0 0 1 1 0 0 0 0 1 1] BA51E9A9H
B3] HEARX EN&2TH 1.70 50 50 0 0 0 0 0 0 50 50| A7 BF1514E9 A 9H
BE) HESX MRE3TH 0.50 51 51 10 10 0 0 0 0 61 61 ;&7 BA51E9A9H
EES] HEASX 4T B 0.10 13 13 9 9 0 0 0 0 22 2237 5149 H9E
BE) HEAX #ESTH 3.60 12 12 21 21 0 0 0 0 33 33[}& 7 BA515E9A9H
EES] HEASX ESIWITH 2.60 10 10 15 15 0 0 0 0 25 2537 5149 H9H
EEN HEAX HMA3ITH 0.10 3 3 0 0 0 0 0 0 3 3571 BA51E9A9H
BERR ) HEASX =HZXEITH 0.20 6 6 0 0 0 0 0 0 6 637l BF1514E9 A 9H
EeEE HESX FR2TH 0.10 1 1 0 0 0 0 0 0 1 1] BA51E9A9H
JEiRI HEARX LARITH 1.00 28 28 4 4 0 0 0 0 32 32[3R7 5149 H9E
JLR)I HEAX Fi22TH 0.10 1 1 0 0 0 0 0 0 1 1] BA51E9A9H
[ HEASX F;EWLITH 0.20 6 6 0 0 0 0 0 0 6 6| BF1514E9 A 9H
Sl HEAX JLBIL6TH 0.10 6 6 0 0 0 0 0 0 6 6|A7 BA51E9A9H
) HEASX FEEWL3TH 0.10 1 1 0 0 0 0 0 0 1 1]A7 BF1514E9 A 9H
Bl HESX J\IBLTH 0.10 8 8 0 0 0 0 0 0 8 8| A7 BA51E9A9H
LS HESX EZ2H8TH 0.10 1 1 0 0 0 0 0 0 1 1A #5248 A 17H
B HEAX LHE2TH 0.10 2 2 0 0 0 0 0 0 2 AT FBF05258A17H
B HEASX EEWLITH 0.50 7 12 0 0 0 0 0 0 7 12[ A1) BF52%E8 H 178
Il HRRX $#M1-2TH 0.50 19 19 2 2 0 0 0 0 21 21|"7 FRF1535E4A6H
EES] HEASX 3T B 1.00 0 24 4 6 0 0 0 0 4 3037 BF153%4A6H
Bl HRRX meIl5-6TH 0.20 0 0 4 4 0 0 0 0 4 AEY FRF1535E4A6H
) HEASX LEWITH 0.10 4 4 3 3 0 0 0 0 7 7371 BF153%4A6H
Sl HESX JLBIWITH 7 FBFN53F4H6 8
B HEASX HE5TH 030 10 12 6 6 0 0 0 0 16 18 05354 H6H
Bl HRRX MmiE7IT 0.10 1 1 0 0 0 0 0 0 1 1[327] FRF1545%E5A 158
A1 HESX AOT B 0.10 3 3 0 0 0 0 0 0 3 337 FBF15449H30H
EEN HEAX tME4T B 0.10 1 1 0 0 0 0 0 0 1 1] BF05445E10H 198
BRI HEAASX Z/HITH 0.20 3 3 1 1 0 0 0 0 4 ARy BF156%E71H22H




=) =
s[5 ’ BKEHE| KT KT KLt Rt 3 IR E3 E3E] &E &F -

mIwE | EmETH irT# ha)| GEE0 | (o | Gamn | aemsn | omm) | (emmo | Ges) | s | deso | (eEmo RE BAEE
2101 HEASX HHE2TH 0.30 24 24 0 0 0 0 0 0 24 24| A7 FB#N56% 7 H 228
Ei | HAAX ;‘EEaTE K i3 ussggzm
I HAAX 4T B Y FB#156%7H 228
BEN H A X =®\I1TH 960 210 651 1s 154 0 0 0 0 325 805 K FAF1564E7H 228
BE) HAAX =7E2TH Y #0565 7H 228
LT HEH&X =HEE2TH 0.10 0 0 3 3 0 0 0 0 3 3[Rk FEF156F7H 228
e 51 HAAKX FE4-5TH 0.10 3 3 1 1 0 0 0 0 4 AT FB#N56% 7 H 228
JER)I HAAX KRE4ITH 0.10 0 0 2 2 0 0 0 0 2 2|AK 05657 H 228
3R HAAX AEST B 0.30 0 0 9 8 0 0 0 0 9 8| A #5647 H 228
51l HRRX EWLITH &K FAF1564E7H 228
] AR %*EETE 0.30 12 12 0 0 0 0 0 0 12 12 i%" o useimﬁzza
BRI HAAX LHZEITH K IBF1562E10 A 228
ARIT HHAR THE4TE 080 27 39 0 0 0 0 0 0 27 39 17] FA156% 105 226
BRI HAAX ZRHITH 0.10 3 3 1 1 0 0 0 0 4 ARER BF0564E10H 228
AF) HAAX LHBE2TH 0.10 1 1 0 0 0 0 0 0 1 1]A7 FB#156%E 108228
51l HRRX EWLITH AK FEF056 5108228
) HAAX HE5TH 0.50 21 26 3 3 0 0 0 0 24 29(/A7 IBFN564%E10 8228
Bl HRRX $AEATH AK FEF056 108228
) HAAX FEELSTH 0.10 4 4 0 0 0 0 0 0 4 AT FB#156%E 108228

ZE] HAAX FE1TH 0.10 1 1 0 0 0 0 0 0 1 1]AK BF575%8A1H
SR HEAKX THEE6TH 0.10 0 0 2 2 0 0 0 0 2 2| A BF57E9H 128
BRI HAAX LH®E3-5TH 0.50 16 16 20 20 0 0 0 0 36 36| AK RB15759 A 128
SR HAAX RAE4TH 0.70 9 9 42 42 0 0 0 0 51 51[A17 BF57&E9H 128
BRI HHAAX FEH5TH 0.10 0 0 1 1 0 0 0 0 1 1]AK 15759/ 128
& RJI HEH A X HEITH A7 FRF15749A 128
BRI FAAK EAAITE 050 % % 6 6 0 0 0 0 39 1Rk R1579 8120
571 HAAX AT H 0.20 0 0 13 13 0 0 0 0 13 13[A1] BF57&E9H 128
)1 HHAAX HME2TH 0.50 13 13 25 25 0 0 0 0 38 38| K 15759/ 128
I AR X FHERIEITH 0.10 0 0 3 3 0 0 0 0 3 3[R BFI578E9A 128
I HRBX FEIE2TH 0.10 0 0 2 2 0 0 0 0 2 2|AK RFI578E9A 128
(321 AR X E%%3TH 0.10 0 0 3 3 0 0 0 0 3 3[R BBFI578E9A 128
i1 HAAX fHETA5-6 T H 0.20 13 13 0 0 0 0 0 0 13 13[AK 15759/ 128
A HAAX SE4TH 0.10 0 0 1 1 0 0 0 0 1 1]A7 BF57&E9H 128
HF HAAX FE&2TH 0.30 22 22 0 0 0 0 0 0 22 22| AK RB15759 A 128
B3] HAAX AE2TH 0.30 17 17 0 0 0 0 0 0 17 17[A) BF57E9H 128
AFII HHAAX RE1~3TH 0.40 1 1 20 20 0 0 0 0 21 21[AK 15759/ 128
AF)I HAAX tE4TH 0.10 0 0 7 7 0 0 0 0 7 7|AJ] BF57&E9H 128
FII HHAAX FiE1-2TH Ak 15759/ 128
I HAAX HFE1-2TH 1-50 % % 63 63 0 0 0 0 s 13 15)) BE15789A 128
I HAAX tH£2-3TH 0.20 10 10 3 3 0 0 0 0 13 13[AK 15759/ 128
B3] HAAK EJI2TH 0.50 38 38 3 3 0 0 0 0 41 41[A] BF57&E9H 128
HF HAAX EJIIBTH 0.20 8 8 4 4 0 0 0 0 12 12[AK 15759/ 128
HFII HAAX EJI4TH A7 B15789A 128
E3] AR BEITE 20 - i I 7 0 0 0 o & 821K W59 R 126
AF)I HAAX HHEITH 0.10 1 1 1 1 0 0 0 0 2 2| A BF57&E9H 128
BEN H A X ME3-4TH K. K FRF1578E9A 128
EET AR SETH 6.00 47 449 99 129 0 0 0 0 146 5781 Tk RHE AR 20
EREE] HAAX TEITH 0.10 0 0 2 2 0 0 0 0 2 2|AK 15759/ 128
EAR ) HAAX FiR1-2TH 0.10 0 0 4 4 0 0 0 0 4 AL BF57&E9H 128
JLR)I HAAX WE2TH 0.20 15 15 0 0 0 0 0 0 15 15[ K 15759/ 128
3R HAAX BT H 0.10 6 6 0 0 0 0 0 0 6 6|/ BF57&E9H 128
Sl HESX LSIWITH @K, KK FBFN5749 A 128
BT FAAK @E45TE 040 7 7 8 8 0 0 0 0 25 Bk Ak RA5729 8 126
B HHAAX LSIL9TH 0.30 9 9 6 6 0 0 0 0 15 15[ K 15759/ 128
) HEAASX EEIL4TH 0.20 4 4 1 1 0 0 0 0 5 5] A BF57&E9H 128




=) =
s[5 ’ RKERE| KT KT KLt KL FiE FiE E37] E3E] &t &F -
AIRE |  EmErH BT T ho)| GEED | s | om0 | aemwn | e | e | oemo | aemw) | m) | (e RE BAEE
B HAAX LHERAITH 0.10 2 2 0 0 0 0 0 0 2 2| A BF57&E9H 128
Bl HRRX H{AERAST B 0.20 10 10 0 0 0 0 0 0 10 10K FRFI578E9A 128
) HAAX MEITH 0.10 1 1 0 0 0 0 0 0 1 17 BF57&E9H 128
& HAAX BRITH 0.10 1 1 0 0 0 0 0 0 1 1]AK BA5759A 128
PN HAAKX ZARH5TH 0.80 47 47 13 13 0 0 0 0 60 60|17 BF57&E9H 128
PNl HESX EIW&3TH 0.60 1 1 43 43 0 0 0 0 44 44| Rk BA5759A 128
PRy AR X F4R/HATH 0.10 2 2 2 2 0 0 0 0 4 ALE BFI578E9A 128
AL HHAAX B1iR5-6T B 0.20 4 4 0 0 0 0 0 0 4 ARER BA5759A 128
RJI AR X E2-4TH A7) FRF1574E11 308
RIi AR K TREI4TE 020 4 4 8 8 0 0 0 0 12 1215k FAA157% (1 B 30H
RJI HAAX hET3T B 0.10 1 1 0 0 0 0 0 0 1 1]A7 FB#1575 118308
RJI HAAX ZRHITH 0.10 1 1 0 0 0 0 0 0 1 1]AK #0574 11 H30H
1 HAAX B5T B 0.10 0 0 1 1 0 0 0 0 1 17 FB#157411 8308
| HAAX BB B3 TH 0.20 10 10 0 0 0 0 0 0 10 10{ K #0574 11 A 308
I HAAX FEa3-5TH 0.10 2 2 0 0 0 0 0 0 2 2| A #1574 118308
FJI HRRX tr F2-4-5TH 0.20 6 6 5 5 0 0 0 0 11 1Ak REF1574E11 308
B3] HAAX FEAITH 0.10 0 0 1 1 0 0 0 0 1 1]A7 #1574 11 8308
HF HHAAX 1T H 0.30 19 19 0 0 0 0 0 0 19 19[AK #0574 11 H 308
HF) AR X #E1-4TH A7) FRF1574E11 308
i HEAR 4T E 010 4 4 s s 0 0 0 0 ! ! Ak 70577 115308
FII HEASX Fi21TH 7 FB#157511 8308
AF FRAK HeoTH 020 2 8 0 0 0 0 0 0 2 8 ik 70577 115308
EES] HAAX tMR3-4T H P FB#1574 118308
EET] HFAAK =&ETH 050 %0 % 0 0 0 0 0 0 %0 1Rk FAA157% (1 B 30H
iE AR HAAX TE1-6TH A7 BF0574E11 8308
BRI H A X FR2TH 0.20 4 4 7 7 0 0 0 0 " 11AK BBF057411 830H
BRI AR X LFE3TH A7) FRF1574E11 308
RJI HHAAX XiR2T B 0.10 1 1 0 0 0 0 0 0 1 1]AK #0574 11 H30H
RJI HAAX KE4TH 0.20 8 8 2 2 0 0 0 0 10 10{ 1] FB#157411 8308
RJI HAAX tAE2-3-5TH 0.30 5 5 17 17 0 0 0 0 22 22| K #0574 11 H30H
RJI HAAX =iR3T H 0.10 1 1 0 0 0 0 0 0 1 1]A7 FB#1575 118308
RJI HAAX J\IBLITH 0.10 2 2 0 0 0 0 0 0 2 2|AK 057411 H30H
[ HAAX =EFITH 0.10 2 2 0 0 0 0 0 0 2 2| A #1574 11 8308
Bl HRRX #E4-5TH 0.10 1 1 2 2 0 0 0 0 3 3|AK REF1574E11 308
) HAAX MEST B 0.10 0 0 1 1 0 0 0 0 1 1]A7 FB#1574 118308
& HAAX HET1TH 0.10 1 1 0 0 0 0 0 0 1 1]AK #0574 11 H30H
anfh ]l HESX BiR5~7TH A7) FRF1574E11 308
XA FRAKR ZR5TH 010 6 6 2 2 0 0 0 0 8 8lmk FAA157% (1 B 300
XN HAAX EI&3TH 0.40 15 15 11 11 0 0 0 0 26 26|17 #1575 11 8308
RJI HAAX RE3TH Ak #0607 H 148
RJI AR X E4TH A7) FAF1604E7A 148
BRI HESX TREITH 11.20 105 200 11 73 0 0 0 0 216 273[AK #0604 7148
RJI AR X FHAB3ITH A7) FAF1604E7A 148
BRI HEHAX FRESTH K RBFN60%7814H
RJI HAAX hET5T B 0.10 0 0 9 7 0 0 0 0 9 7|AJ] IB#160%7H 148
&R HEHAAX gajﬂTE EK ] D60§7ﬁ145
RJI HAAKX RH2TH P IB#160%7H 148
AR FRAKR HEiTH 170 20 490 1 1 0 0 0 0 3 601 Rk 0607 1B 146
RJI HAAX HE2TH A7 #0605 7H 148
I} HAAX A5 T H 0.10 6 2 0 0 0 0 0 0 6 2|AK #0605 7 A 148
I HAAX fh2 T H A7 06057 H 148
i FAAK TRE6TH 060 ! ° 0 0 0 0 0 0 ! SRk FAI60Z T A 146
AF)I HAAX HHEH4ATH 0.10 7 21 1 1 0 0 0 0 8 22| A7 IB#160%7H 148
HF) HRRX HFEITH AK FAF160%E7A 148
HFI HEAASX EJI2TH 0.40 15 28 1 1 0 0 0 0 16 29[A7 #0605 7H 148




=) =

e 4 RKEE| KT KT KE Kt ¥ iR ESET ESET &&t &% —

mIRE |  EmETH BT ha)| B0 | (o | gamp | gemsn | omm) | emmo | Geso | g | aeso | eEm RE BAEE
AFI HA AKX THEITH A7 IBF1605E 7 A 148
EEN H A X MFE3TH K, RBFN60%7814H
EEN HEAX MFEATH 5.50 52 423 107 130 0 0 0 0 159 553K . MK FAF1604E7A 148
EEJ HEH&X =T®E2TH K, A FBFI60F7H 148
MERR ) A X TEITH A7 IBF1605E 7 A 148
be R )| H A X TE2TH [2ES RBFI60%7814H
CEAl A X TE3TH 2.10 100 110 12 101 0 0 0 0 112 211/ E%N60%E7 5140
FEE HA AKX TE5TH 7K FAFI60%7H 148
b BRI AR X =HEXERITH A7) FAF0604E7A 148
EERE A X TE6TH 0.10 6 13 2 2 0 0 0 0 8 15[AK BF160%E7 A 148
KERR )| HA AKX =HEE2TH 0.60 21 21 6 2 0 0 0 0 27 2371 IB#160&7 H148
i BRI HEAX %E2TH Ak FEF060F7H 148
I Aax b 0.40 14 6 9 15 0 0 0 0 23 21 ? = ueoggma
HE R A X FEATH K FEF60%E7 A 148
o 5 1 FEAK IE5TE 160 ! i 2 0 0 0 0 % T RA160% 7 A 145
ECE:E H A X %FET2T B [2ES RBFN60%7814H
b RR ) HEAX 5%&E3TH 1.30 17 100 6 6 0 0 0 0 23 106 (A7} FAF1604E7A 148
EERE A X iZE4TH Ak BF160%E7 A 148
JERIT A X B2 T H 0.50 12 18 16 13 0 0 0 0 28 31[ A7 IB#160&7 H148
JEiR HEHAAX WE3TH EK iA E60§7EI4E!
JEiR)I HHAX AR4TH 7l FBF1604E7H 148
LRI FAAK NG 180 38 123 14 b 0 0 0 0 52 1371 5K FAI60Z T A 146
LRI HA AKX AE6T H A7 IBF1605E 7 A 148
LRI A X FRIE2T B 0.10 0 0 1 1 0 0 0 0 1 1Ak 16047 A 148
JEiRI A X x EKITH A7 FB#160&7 H148
LR FAAK EK2TH 020 6 6 ! ! 0 0 0 0 ! TIRK FAI60Z T A 146
LRI A X 4t k5T B 0.10 5 5 0 0 0 0 0 0 5 57 IB#160&7 H148
LRI A X LIR3TH K BF160%E7 A 148
LRI HHAR TIR4TH 010 4 ! 0 0 0 0 0 0 4 UEE RA160% 1 B 146
LRI A X LIR5TH 0.10 1 1 0 0 0 0 0 0 1 1Ak 16027 A 148
&)1 AR X E#3TH 0.10 2 0 0 0 0 0 0 2 1[A FEF1607H 148
Sl HEAX %EATH Ak FEF060F7H14H
Bl FEAK #EATTE 020 45 45 s ! 0 0 0 0 48 52155 RA160% 7 A 145
Bl HRRX 24T H AK FAF160%E7A 148
B A X 5T B 0.40 1 49 5 8 0 0 0 0 6 57[A3] IBF1605E 7 A 148
Bl HRRX 3T H AK FAF160%E7A 148
B A X FEA2TH 0.10 7 32 0 0 0 0 0 0 7 32| A7 IB#160&7 H148
B HAAX ¥H5TH 0.10 2 2 0 0 0 0 0 0 2 ALES BF160%E7 A 148
&)l AR X FERITH A7) FAF1604E7A 148
&l A X ER3TH 3.00 36 43 1 0 0 0 0 0 37 43[AK FAF160%E7 B 146
&l AR X ERATH A7) FAF1604E7A 148
§j| A X gngZTE Ex iZ usoggma

| HEHAX ER4TH 7] BB#060E7H14H
&l HEAX ER5T B 040 19 43 4 8 0 0 0 0 19 46 Ak FBF060F7H 148
E“ A X ER6T H §7 iz D60§7E14E

1 HAAX ZR5T B K FEF60%E7 A 148
=l A X %R H8TH 030 16 39 ! ! 0 0 0 0 7 0IR3 IBF1605E 7 A 148
PR YINI] H A X EWL&E3TH [2ES RBFN60%7814H
pRYINI] HEAX F4H2TH 8.00 28 58 59 4 0 0 0 0 87 99| A7 FAF1604E7A 148
PRV H A X EARN5TH K RBFN60%7814H
pRYINI] AR X F4/AH3TH A7) FAF1604E7A 148
PR=Y/N]] A X Z R N4TH 2.50 49 120 50 41 0 0 0 0 99 161[AK #6047 A 140
iuj:}i\“ A X %QﬁBTE ﬁy i3 ueoggma

XN A X BRITH K %0607 A 148
E-XIN] AR BRTH 200 46 % 12 12 0 0 0 0 %8 107553 1602 7 B 146




=) =

s[5 ’ BkmiE| KT KT KLt KL 3 FiE E37] E3E] &t &F -

mwR | R irT# ha)| B0 | (rrEwo | Gamn | gemsn | omm) | emmo | Geso | s | deso | s RE BAEE
PR YN} HEA A X BR3TH A7) FAF0604E7A 148
PN HESX BR4TH 0.20 13 13 8 3 0 0 0 0 21 16[F7K BF0605E 7 A 148
pRY NI AN X BR5TH A7) FAF1604E7A 148
PN HESX ER5TH Ak FBF060F7H 148
PN HEASX BR6T H 0.90 5 36 24 15 0 0 0 0 29 51 #0605 7H 148
PN HESX BRITH Ak FBF060F7H 148
pRYINI] AR X F4RH5TH A7) FAF1604E7A 148
BN HEAK =RrN6TH 1.70 46 69 22 15 0 0 0 0 68 847K FB#1604E7H 14H
pRL NI HEH A X BiRITH A7 FAF1604E7A 148
I HRRX E%H3TH 0.10 8 8 0 0 0 0 0 0 8 8| Ak RFI614E9A2H
11 HEASX B3 T B 0.10 1 1 0 0 0 0 0 0 1 1]A7 BF61E9H2H
AF HAAX R1TH 0.10 3 3 0 0 0 0 0 0 3 3[Rk BF61E9A2H
B HEASX HEITH 0.10 1 1 0 0 0 0 0 0 1 17 BF61EE12H198
Il HRRX B3T B 0.10 1 1 1 1 0 0 0 0 2 2|AK REFI614E12H 198
EES] HEARX 3T B A7 06247 H 258
BE) HESX tMER4T B 0.14 13 13 0 0 0 0 0 0 13 13[AK 06247 A 25H
EE HEASX TE6TH A7 06247 H 258
E | H A X ;’E;‘MTE EK iA D62§72255
JEiRJI HEARX R5TH P B#06247H 258
LRI AR K AE2TH 041 22 22 17 17 0 0 0 0 39 35K FA1625 1 A 258
JEiRIL HEHAX AE5STH A7 BB#0624E7H25H
B HESX HEAANITH 0.02 1 1 0 0 0 0 0 0 1 1]AK #0624 7258
) HAAK HEAITH 0.02 1 1 0 0 0 0 0 0 1 1]A7 #6227 H31H
Sl HRRX FmasTH 0.02 1 1 0 0 0 0 0 0 1 1{AK FRF162%7A31H
&R AR X BE2TH A7) FAF0624E8 A 24H
BRI HEHAX HAB4TH K RAFN6248 824H
&R AR X FHAB3ITH A7) FAF0624E8 A 241
BRI HEHAX FRE4TH K RAFN6248 824H
&R AR X THAB5TH A7) FAF0624E8 A 24H
BRI HESX TRAE6TH 0.18 15 18 2 2 0 0 0 0 17 20[AK BF0624E8 A 24H
&R HEASX EII&ITH A7 06248 H 248
BRI HEHAX EJII&E2TH K RAFN6248 824H
& RJI HEH A X FET4TH A7 FAF0624E8 A 24
2RI HEHAX Fl5TH K RAFN6248 824H
& RJI HEH A X FER8TH A7 FAF0624E8 A 24H
BRI HEHAX % 4T H K RAFN6248 824H
SR HEASX %3 T H 0.04 3 3 0 0 0 0 0 0 3 3] BF16248 H 2480
ARl HEAX %&3ITH Ak FBF06258 H24H
1 AR X EZ2R3TH A7) FAF0624E8 A 24H
)1 HAAX EZR5TH 0.12 1 1 0 0 0 0 0 0 11 1Ak BF0624E8 A 24H
)1 HEASX 8 T H A7 06248 H 248
i1 HESX BB A3 TH 0.02 1 1 0 0 0 0 0 0 1 1]AK BF0624E8 A 24H
:EFTE | ] ér:% E?;JFTE %7 3 uezisgzm
HE BRI HAAK EH3T K AF062%E8 H24H
e 51 FRAR TEOTE 008 ° 6 0 0 0 0 0 0 s 8@ 7062785 24
éﬁ? 1 HAAX ;EE;‘RaTE EK i3 uszgsgzm
1)1 HEASX HE5TH P BF16248 H 2480
Sl HESX LSIWITH 042 40 % 0 0 0 0 0 0 40 %3 Ak FBF06258 H24H
pRYINI] AR X F4H2TH A7) FAF0624E8 A 24H
PR YINI] H A X 42 H4TH [2ES FRF1624E8 A 248
iuj:}i\“ H A X §F/1£5TE %7 i3 D62§8§24E

AL HAAX RASTH K BF0624E8 A 24H
PN HEASX EI&3TH 028 16 82 10 19 0 0 0 0 26 MG 06248 H 248
PR YINI] & X BUR6T H [2ES FRF1624E8 A 248
piRL NI HE A X BiRITH A7 FAF1624E8 A 24H




=) =1

RIKEE

a5

s[5 : KT KT KLt KL FiE FiE E37] E3E] &% -
mwR | R irT# ho)| CGEED | s | i | aemwp | e | emso | oemo | aemw) | m) | (e RE BAEE
Lem bl HEH X BR5TH A7 FAF0624E8 A 24H
BRI HEAX LHZEITH Ak FBF0625F9H25H
&R AN X FHABTH A7) FAF16249A 25H
AR FAAK FRE4TH 005 4 4 0 0 0 0 0 0 4 ML FA1625:9 F 256
& RJI H A X EINI4TH A7) FAF16249 A 25H
BRI HEHAX FRE4TH K RAFN63%8F11H
&R AR X FHAB3ITH A7) FAF163E8A11H
BRI HESX TRAESTH 0.82 30 67 0 0 0 0 0 0 30 67[AK FBF0635F8A11H
&R HEH A X BE4TH A7 FAF163E8A11H
BRI HESX RE2TH Ak FBF0635F8A11H
51| HEASX HE2TH 0.12 10 10 0 0 0 0 0 0 10 10{ 1] BF63E8H11H
AR HEAX %R HATH 0.03 2 2 0 0 0 0 0 0 2 2|AK FBF0635F8A11H
&R AN X E4TH A7) FAF0634E8 A 148
BRI HEHAX FREITH K RBFN634%8F14H
&R HEASX LTHREITH 0.10 8 8 0 0 0 0 0 0 8 8[A7 MBFN63E8 A 148
BRI HEHAX FRE4TH K RBFN634%8F14H
&R AR X THAB6TH A7) FAF1634E8 A 148
BRI HRRX %4H1TH 0.02 0 0 1 1 0 0 0 0 1 1[Ik ERTE08 HO1H
1 HEHSX SE1TH. $#H2TH 0.71 65 65 0 0 0 0 0 0 65 6571 ERITE08H01H
SFN HASX ?EETH_IE_]‘_JE:E”%ZT 0.35 25 25 3 6 0 0 0 0 28 31|k TRTE08H01H
B2 AKX tMR4THE 0.28 22 22 3 3 0 0 0 0 25 25|R7K ERit&E08A01H
L] HHASX TE3TH 0.02 0 0 1 1 0 0 0 0 1 1[Ik R ITE08 H01H
dLiR)I AKX HKHE2TH 0.11 10 10 0 0 0 0 0 0 10 10{ K ERit&E08A01H
+TAB6TH. LRAES
TE~J:FH”§“5IEJ§E
P PR H5TH. EJIIE2TH. T b
#iRN HEASX mE3TH. HEATE. 0.42 15 15 23 23 0 0 0 0 38 38| Ik ERLTE08H 108
ERA4TH. F4M
TE
~ n EZR5TH.F&R1 b —
I HASX TE. #maoTE 0.59 54 54 0 0 0 0 0 0 54 54| Ik ERLTE08H10E
A7 TH. RS TH.
RS TH. 6T H.
AW2TH.M8TH. F
il HASX mE2TH.EMB4T 1.03 67 67 15 32 0 0 0 0 82 99| 17K R TE08H10E
B. A2 TH. 86
B3TH.HEMA1TH.
FHEe1TH
BEATH.EN4TH.
P ENI2TH. EHEIT TR =
AFN HESX B ®R7TH. BAT 0.13 7 7 3 3 0 0 0 0 10 10| M7k FRTE08F 108
B.#M4TH.M1TH
LN HEASX %g%ﬁﬂ—ﬁ‘ +£55 0.1 10 10 0 0 0 0 0 0 10 10| M7k ERLTE08H10E
JEiRI HEASKX e EKI1ITH BE2T 0.06 5 5 0 0 0 0 0 0 5 5|7k ERTE08H10H




=) =1

= ’ BkmiE| KT KT KL KL FiE FiE E37] E3E] &t &F -
mEE | EmETH BT ha)| B0 | (rrEwo | Gamn | gemsn | omm) | emmo | Geso | s | deso | s RE BAEE
WEATH. #%E3TH.
jt%mgTE,jt%m%g
PR TEB.#HB5TH. IE T Rp oo
Sl HEASX L6TH. BE2TE. 4t 0.39 12 12 22 22 0 0 0 0 34 34| AKX R TE08H10E
SW1TH.#M&81TH.
MmE7TH
LAE3TH. LAE4T
A3 PN B. LRAE5TH. LAX S
BRI HEAX 6TH. BEATH. F& 0.19 7 7 10 10 0 0 0 0 17 17|Ak ER24F8ASH
B1TH.#1TH
Sl HESX FTEE2TH 0.03 2 2 0 0 0 0 0 0 2 AT ER2F9A13H
ER1TH.ERE2TH.
HFN HEAX FAN5TH. THE2 0.11 6 26 3 7 0 0 0 0 9 33| K FR25F9A 308
TH
HF) AN X FAE345TH. M1TH 0.24 8 8 5 1 0 0 0 0 13 [ ER3FETA6R
HF HESX ®B4TH 0.01 1 0 0 0 0 0 0 0 1 NIEER k38 A20H
BRI HEAASX Fi22TH. BII&3T 0.04 0 0 2 2 0 0 0 0 2 2| A TER3FEIA18H
=2
Al HEAK g*%ﬁﬂggféﬁmﬂ_ 0.92 44 46 6 6 0 0 0 0 50 52|pask TR3E9H18E
)1l HESX tHERR3TH 0.02 1 1 0 0 0 0 0 0 1 1{AK TER3E9IA18H
W2TH.ZE3TH. B
S HEASX R2TH.MA3TH. & 0.55 22 22 0 0 0 0 0 0 22 22| Ak ER3FIA18H
EIW8TH.#H4TH
)1 HERBX EZR5TH. #H2T 0.02 2 2 0 0 0 0 0 0 2 2|AK ER4ETR158
HF) AR X BE4TH 0.02 0 0 1 1 0 0 0 0 1 1A 4T 158
Sl HRRX EEW4ATH 0.02 1 1 0 0 0 0 0 0 1 1[AK 4% TH158
AR AR X LTHEITH 0.02 0 0 1 0 0 0 0 0 1 NEE k4%E12H8H
AT HEAX LiHEIR2TH 0.09 5 4 0 0 0 0 0 0 5 AER RA4E12A8H
JeiRJI HESX PRA1TH 0.02 0 0 1 0 0 0 0 0 1 0[] 412 A8H
Sl HRBX EEIW6TH 0.03 2 2 0 0 0 0 0 0 2 AT ER4AF12H8H
AR pasg (Tt B LRSS 013 5 32 4 7 0 0 0 0 o 30| pask THsE8A27H
il HEAK EE’S‘WIG’TE* WEAT 0.30 23 25 0 0 0 0 0 0 23 25(p7k TR548H278
N THEITH.#EA2T T
AFIN HEAX B EN4TH 0.09 4 36 1 5 0 0 0 0 5 41|{mk TrRi548A27H
+tBATH.$45H24T
ZOith HEASX B.EW&ASTH. £ 0.05 5 11 1 4 0 0 0 0 6 15|M7k ER5E8A27H
iR
AF HESX HFE2TH 0.03 1 22 1 1 0 0 0 0 2 PEISER ER5E11 8138
BRI HEAX f.%’;‘waiﬁﬁ& 0.02 0 16 5 7 0 0 0 0 5 23Rk TrRi64E8A20H
Il HR KX FEEITH 0.01 1 1 0 0 0 0 0 0 1 1Ak ERL6F8H20H
A HEASX f1TH 0.01 0 0 1 1 0 0 0 0 1 17 k68 H20H
AF HEAX EJISTH.MA1TH 0.02 1 0 1 1 0 0 0 0 2 [IEER FRRk6%8H20H
E30] HEX ZR4ATH 0.01 0 8 1 1 0 0 0 0 1 9[ A 68 H20H
PN HESX RASTH 0.01 0 9 1 2 0 0 0 0 1 1Ak 68 H20H
AR AAX hE5TH. EAB5T 0.09 0 10 2 5 0 0 0 0 2 15[ A1) RI1E8A2H
Il HRRX FEIEITH 0.01 1 1 0 0 0 0 0 0 1 1[Ik I8 H2H
[ HA A X LEERA7TH 0.02 2 2 0 0 0 0 0 0 2 ALY ERTESA2R
AT HESR %”fg% EJISTH. 0.04 4 1 0 0 0 0 0 0 4 11| Ak ErR7E8A28




=) =1

= ’ BkmiE| KT KT KL KL FiE FiE E37] E3E] &t &F -
mEE | EmETH BT ho)| GEED | s | cmEo | armwn | e | e | oemo | armw) | dmo) | e RE BAEE
n WMA1TH.EBWL4AT o
Z0ith HEAX B OEELITE 0.03 3 4 0 0 0 0 0 0 3 4|AK ER7ESA2AR
BIU&3TH. hE4T
P PN B.%E1TH. AE3T T
BRI HEAX B LHEATH. MET5 0.08 3 45 3 3 0 0 0 0 6 48Rk TRi748A22H
TE
AF HEAX EJII2TH 0.01 0 0 1 1 0 0 0 0 1 [IEER FRk15E8 A 228
)11 HESX E%ZB3TH 0.01 2 2 0 0 0 0 0 0 2 ALY 8E9IH 22
BRI HEAX BE1TH 0.01 0 0 1 1 0 0 0 0 1 [IEER B9FE4R7H
BRI AN X AE—TH. &%EMTH 0.02 2 2 0 0 0 0 0 0 2 ALY ERR9E8A 23R
)1 HESX ABATH.ELZRMET 0.02 1 16 1 1 0 0 0 0 2 17[AK k98 A 23H
fili)1 AN X HERR1TH 0.03 0 0 2 18 0 0 0 0 2 18] A7 ERR9E8A 23R
BRI HEAX %T4TH 0.02 2 2 0 0 0 0 0 0 2 2|AK ER9FIAIA
B AR HESX =HEE2TH 0.01 1 1 0 0 0 0 0 0 1 1[A7] ROFEIA3HE
& HESX ERR3TH 0.02 1 1 0 0 0 0 0 0 1 [IEER ER9FIAIH
FHAEATH. BRE4AT
&R HEAX B. LEHE4A4TH. HE3 0.61 5 5 6 6 0 0 0 0 1 11|AK ERI1ETA21R
TE
KE6TE.M2TH.
il HEAX 6TH.M7TH. K7 0.37 2 2 4 6 0 0 0 0 6 8AIK TR114£78218
TH
HFI HEASX FEI4TH. THRE1T 0.09 3 3 0 0 0 0 0 0 3 3[Rk ERI1E7H218
PN WESTH.KEH6TH. R
B2 HEAX FiR1TE 0.16 3 5 4 4 0 0 0 0 7 9| K ERI1ETA21R
LRAEATH. #E4T
B.%4%A2TH. H#13
AR HASX TH.hE4TH. hE5 1.16 8 8 25 25 0 0 0 0 33 33| Ak ERL114E8H29R
TEH.RE3TH. &4
TH
F HASX HHE1TH 0.08 5 5 0 0 0 0 0 0 5 5[k ERI1E8H29R
AF HESX MA1TH 0.12 2 2 2 2 0 0 0 0 4 AER ERI1E8H29R8
MAITH.MRATH.
=HFXE2TH. TE1
TEB.TE2TH. TES
PR TE.THE4TH.TES T L
B2 HEAX TE.FE6TH. A7 0.63 21 21 28 36 0 0 0 0 49 57|RK ERL114E8A29R
HE2TH.HRITH. &
R5TEH.KRBASTH. K
H6TH
EEN HEAASX HER4ITH 0.00 1 1 0 0 0 0 0 0 1 1[R7K ERi1247A7H
Admihlil HHASX BR6TH 0.00 1 1 0 0 0 0 0 0 1 1[Ik ERk1257H78
L] HHASX +ES5TH 0.01 0 0 1 1 0 0 0 0 1 1[Ik ERK135F9IA 108
dLiR)I AKX tMR4THE 0.01 1 1 0 0 0 0 0 0 1 R ERL1359810R
+tH4TH,. LBES5TH.
FEAR I HASX =EZE2TH. TES 0.90 6 110 23 33 0 0 0 0 29 143| AKX FR145E882R
TE.FTE6TH
dLiRN HEAX :ﬁg§$5 #E2TH. 0.27 2 36 10 7 0 0 0 0 12 43|k TRi145E8A2H
&I HEASX ER3TH 0.10 4 4 5 5 0 0 0 0 9 9| A1 ER1458H28
AR HHASX hET4TH 0.02 0 0 1 0 0 0 0 0 1 0|m7 TRi14%8848
FLFI HEAX E4TH 0.02 1 1 0 0 0 0 0 0 1 1{A7 ERL1458848




=) =1

= . BKERE| KT KT KL RE FiE FiE E37] E3E] &t &F -
mEE | EmETH BT ha)| B0 | (rrEwo | Gamn | gemsn | omm) | emmo | Geso | s | deso | s RE BAEE
J:g%4TE\ LtESTH.
o n =HEXE2TH. TH1 .
B AR HEAX TE m#1TH. FE6 0.40 11 30 0 0 0 0 0 0 11 30({Mk TRi145E8R48
TE
Sl HEH S X #3TH 0.01 1 25 0 0 0 0 0 0 1 25[A7] Fri14E8H4R
& HESX ERiRSTH 0.04 5 5 0 0 0 0 0 0 5 5|AK ERc14%E8 A48
b1l HESX EWL&3TH 0.01 0 0 1 0 0 0 0 0 1 NEE
BRI HESX TRESTH 0.03 0 16 1 4 0 0 0 0 1 PNEER
HF) AN X FESTH 0.01 1 1 0 0 0 0 0 0 1 1A
HE AR HRRX +ES5TH 0.01 0 0 1 1 0 0 0 0 1 1[Ik
Sl AR X =B2TH 0.02 1 0 1 3 0 0 0 0 2 3[R
BRI HRRX #ME4ATH 0.02 1 1 0 0 0 0 0 0 1 1[Ik
FERR ) HEARX LESTH 0.03 3 3 0 0 0 0 0 0 3 3[R
Bl HRRX =E2TH.B3TH 0.09 2 26 0 0 0 0 0 0 2 26{ K
1 HESX 3T H 0.13 3 10 0 0 0 0 0 0 3 NEX=53
BRI HEAX LHE4TH 0.01 1 1 0 0 0 0 0 0 1 [IEER
1 AR X A5 T B 0.03 2 2 0 0 0 0 0 0 2 ALY
i1 HEAX 7T H 0.02 2 2 0 0 0 0 0 0 2 2|AK ERki15%10A13H
T}%JIIZT&;‘ﬁEEElzTE,
5 HHATH.M1TH. R T
SFN HASX 5TH.MA1TH. F& 0.38 9 18 10 12 0 0 0 0 19 30| MK TR15410A8138
/1TH
J:gl:;4TE~ +tESTH.
o et PN =HRE2TH. £LF2 RO
sEER I HEXX TEH FEATH. %4 0.95 21 115 10 9 0 0 0 0 31 124 Ak TR154108138
TH
5 PN RIRSTH.WE2TH. T
dLiR NI HASX WESTH. #125TH 0.21 2 8 5 4 0 0 0 0 7 12| Rk TR154108138
Sl HASX =f82TH 0.02 1 1 0 0 0 0 0 0 1 1[Ik ERL155%108138
B2 AKX tMAR3TH 0.02 2 2 0 0 0 0 0 0 2 2| AKX ERi165E9R4H
BRI i A X BE3TH. AZB4TH 0.06 4 4 1 1 0 0 0 0 5 5|7k ER16510A9H
i HHASX FEEITH 0.07 2 2 0 0 0 0 0 0 2 2| Rk ER165E10H9H
A1l AKX 8 TH 0.02 1 1 0 0 0 0 0 0 1 1[R7K ERL164510A9R
IEMK%T& EWA3T
PN B.¥<h2TH.M4T e
HF HESE B #EATH. FE1T 0.14 10 9 1 1 0 0 0 0 11 10| M7k ER16410A9R
B.F®&1TH
BEN HASX tRE3TH 0.83 2 101 4 4 0 0 0 0 6 105K ER16%10A9R8
o et P TE3TH.LE4TH. TR
B AR HEAX tES5TH 0.10 3 11 7 6 0 0 0 0 10 17|Ak ER16510A9R
#EKSTH. RR2T
JeiRI HAAKX B.WESTH. R4T 0.67 11 51 18 17 0 0 0 0 29 68| MK ER165E10A98
B.=%2TH
ER1TH.BE2TH.
B HASX =W2TH.LBW7T 0.30 5 34 8 1 0 0 0 0 13 45| Ak ER16410A9A
B
F HEASX ER3STH.FR4ATH 0.06 0 1 2 1 0 0 0 0 2 2| Rk ER164E10H9H
AR HEASX ®EATH 0.02 0 0 1 1 0 0 0 0 1 1[AK R 16510H208




=) =
s[5 . BkmiE| KT KT KL KL 3 FiE E37] E3E] &t &F -
mEE | EmETH BT ha)| B0 | (rrEwo | Gamn | gemsn | omm) | emmo | Geso | s | deso | s RE BAEE
J:g%f'léﬁ . J:E‘%SE?E .
o n SHEBR1TH.=Z8HF o
FEAR I HASX EoTH. FEITE. F 061 4 10 6 15 0 0 0 0 10 25| Ak TR164E108208
BE5TH.%%52TH
JLiR2TH.4LR4TH.
dLiRN HESX VA%STEJ&E4TE~ 0.48 8 33 1 1 0 0 0 0 9 34| Ak TR164E108208
=E2TH
Sl HABX AFE2TH. =E2T 0.18 2 7 5 14 0 0 0 0 7 21 [AK ER165E10H20H
&l HA A X ER3TH 0.01 1 1 0 0 0 0 0 0 1 (e ER16510H20H
1 HAX E%R3TH 1.62 6 5 8 8 0 0 0 0 14 13|A7k ER175E9A48
11 HAEX $%MA1~3TH 4.32 100 279 53 58 0 0 0 0 153 337 HIEER R K ER17E9IB4R
5201 HAX RIE5 T B 0.24 1 6 7 8 0 0 0 0 8 14[AK ER17E9IR4E
)l HAX AES5TH 0.03 1 1 0 0 0 0 0 0 1 1A ER17E9B 48
[5201 HAX MA2TH 0.07 0 34 1 5 0 0 0 0 1 39| Ak ERk175E9IR4H
[ HEX HHEATH 1.88 21 59 20 20 0 0 0 0 41 19 BEERIK ER17E9IB4R
i1 HAEX #HE4TH 0.26 0 20 1 2 0 0 0 0 1 PAER ERk175E9IR4H
[ BAX LEES2T B 0.23 15 15 4 4 0 0 0 0 19 19[ A7 ER17E9B48
i1 HAX tHER A3 TH 0.01 1 1 0 0 0 0 0 0 1 [IEER ERk17E9IR 48
[ HAX BRE7TH 0.05 0 0 2 2 0 0 0 0 2 ALY ER17E9B 48
i1 HAX FEA3TH 0.06 3 3 0 0 0 0 0 0 3 3[AK ERk175E9IR4H
[ AN X #AH2TH 0.04 0 0 4 4 0 0 0 0 4 ALE ER17E9B 48
il HEAX 7T B 0.02 1 1 0 0 0 0 0 0 1 [IEER ERk175E9IR4H
HF) AR X FHE1TH 0.24 7 30 4 4 0 0 0 0 11 34[ A7) ER175E9B48
HLF) HESX RE1TH 0.21 5 24 3 3 0 0 0 0 8 TR ERk175E9IR4H
E3T AR X 3TH 0.02 1 1 0 0 0 0 0 0 1 1A ER175E9B48
HFII HEAX MA1TH 0.04 2 2 0 0 0 0 0 0 2 2|AK ERk17EIR4H
i R | HEARX LESTH 0.11 4 4 7 7 0 0 0 0 11 1] 7] ER1TEIR4R
EeEE HESX ER3TH 0.05 6 6 0 0 0 0 0 0 6 6|AK ERk175E9IR4H
deiR)I AR X =B2TH 0.02 1 1 1 1 0 0 0 0 2 ALY ER175E9B48
JER)I HESX JR4TH 0.05 2 2 2 2 0 0 0 0 4 AEER ERk175E9IR4H
deiR)I HA A X KE3TH 0.03 1 8 0 0 0 0 0 0 1 8] ER17E9B 48
JER)I HEAX KRE6TH 0.03 1 1 2 2 0 0 0 0 3 3[AK ERk17E9IR4H
deiR)I AR X WEITH 0.03 2 2 3 3 0 0 0 0 5 5[ ER175E9B48
JLR)I HEAX KME3TH 0.09 4 7 2 1 0 0 0 0 6 8|AK ERk175E9IR4H
deiR)I AR X WE3TH 0.03 2 2 1 1 0 0 0 0 3 3[R ER178E9B48
JEiR)I HEAX FiIE2TH 0.06 2 2 4 4 0 0 0 0 6 6|AK ERk175E9IR4H
deiR)I AR X % FK1TH 0.01 1 1 0 0 0 0 0 0 1 1A ER175E9B48
JLR)I HESX AES5T H 0.08 0 0 5 5 0 0 0 0 5 5|AK ERk175E9IR4H
Sl AR X =B2TH 0.08 1 3 7 10 0 0 0 0 8 13[ A7 ER17E9B 48
Sl HESX HEXRITH 0.14 0 11 7 12 0 0 0 0 7 PEISER ERk175E9IR4H
Sl AR X iE6TH 0.55 3 273 4 0 0 0 0 0 7 273[ A7 ER17E9B 48
Bl HRRX EEIW3TH 2.70 40 233 34 33 0 0 0 0 74 266 Ak ER175E9A48
Sl AR X J\BIL2TH 0.29 4 7 11 13 0 0 0 0 15 20[ A7) ER17E9B 48
Bl HRRX =fE2TH 0.03 1 1 1 1 0 0 0 0 2 AT ER175E9A48
Sl AR X HH5TH 0.05 0 3 8 8 0 0 0 0 8 11[A7 ER175E9B48
Bl HRRX #BE2TH 0.01 0 0 2 2 0 0 0 0 2 AT ER17%9A48
&L AR X MmE7TH 0.02 1 1 0 0 0 0 0 0 1 1[A TER17E9H4H
Bl HRRX FTEE6TH 0.02 1 1 0 0 0 0 0 0 1 1Ak ER1759A48
Sl AR X J\BIL3TH 0.01 0 0 1 1 0 0 0 0 1 1[A7] ER175E9B48
Sl HESX J\IBILTTH 0.01 0 0 1 1 0 0 0 0 1 [IEER ERk175E9IR4H
Sl AR X EEITTH 0.01 0 0 1 1 0 0 0 0 1 1A ER178E9B 48
Bl HRRX HB/1TH 0.03 1 1 2 2 0 0 0 0 3 3[Rk ER1759A48
Sl HA A X HMB4TH 0.01 0 0 1 1 0 0 0 0 1 1[A7] ER178E9B48




=) =
s[5 . BkmiE| KT KT KL KL FiE FiE E37] E3E] &t &F -
AIRE |  EmErH oI T4 ha)| B0 | (o | Gampn | aemsn | omm) | (emmo | s | s | aeso | (eEm) RE BAEE
Sl HEA A X t5IL4ATH 0.04 2 2 1 1 0 0 0 0 3 3[R ER17TE9IB4H
Bl HRRX LEW7TH 0.01 1 1 0 0 0 0 0 0 1 1[Ik ER1759848
Sl AN X #AHE5TH 0.01 0 0 1 1 0 0 0 0 1 1[A7] ER175E9B 48
Sl HESX JBI6TH 0.01 0 0 1 1 0 0 0 0 1 [IEER ERk17E9IR4H
Sl AR X EEIL6TH 0.05 0 0 1 1 0 0 0 0 1 1[A7] ER175E9B 48
Bl HRRX BB S 1TH 0.01 0 0 1 1 0 0 0 0 1 1[Ik ER1759A48
Sl AR X HMA4TH 0.07 0 6 1 0 0 0 0 0 1 6]A7 ER17E9B 48
J=nn]l HEAX HIEERS1TH 0.08 0 6 1 0 0 0 0 0 1 6|AK ERk175E9IR4H
RJI AR X LTHABATH 0.01 1 1 0 0 0 0 0 0 1 1A ER1855H24R
RJI HESX hR4TH 0.02 2 2 0 0 0 0 0 0 2 2|AK ERL185E5H24R
RJI AN X HWEITH 0.04 3 3 0 0 0 0 0 0 3 3[R ER18%8H 12
RJI HESX WEITH 0.02 1 1 0 0 0 0 0 0 1 [IEER ERL185E8H 128
AR HEARX LE5TH 0.02 2 2 3 3 0 0 0 0 5 5| A ER185E9IR11H
] HEAX FEEITH 0.08 5 5 0 0 0 0 0 0 5 5|AK ERk19%E9IRA6H
2RI HESX BE3TH 0.01 0 0 2 2 0 0 0 0 2 ALY 205 7H8H
AF HEAX HE2TH 0.01 1 1 0 0 0 0 0 0 1 [IEER ERk2057H8H
AL HESX 5T H 0.01 0 0 2 2 0 0 0 0 2 ALY ER2057H128
ZE HRRX $E2TH 0.01 1 1 0 0 0 0 0 0 1 1[Ik ERk205%7H298
AR HESX #E4TH 0.03 1 6 1 1 0 0 0 0 2 7[R ER2057H298
)l HEAX #BEITH 0.01 1 0 1 1 0 0 0 0 2 [IEER ERL205E7H 298
[ AR X 5T H 0.04 5 5 0 0 0 0 0 0 5 5[ ER2057H298
AF HEAX Ri2TH 0.13 1 15 3 2 0 0 0 0 4 17[AK ERL205E7H 298
EaR)I HESX LE5TH 0.02 2 2 1 1 0 0 0 0 3 3[R ER2057H298
&I HEAX ER3TH 0.01 1 1 0 0 0 0 0 0 1 [IEER ERL205E7H 298
Sl HESX EEITTH 0.04 0 0 1 1 0 0 0 0 1 1A FR2058 858
2RI HEAX BEATH 0.26 16 26 11 7 0 0 0 0 0 NIEER ER205E8 H 28R
) HESX E%Z2R3TH 0.05 1 1 2 5 0 0 0 0 0 NEE ER2058 280
HF HEAX MA1TH 0.02 1 4 0 0 0 0 0 0 0 NIEER ERL2058 F 28R
EHR)I HEARX LESTH 0.04 7 14 2 8 0 0 0 0 0 0[A7 ER2058 28R
JLR)I HEAX KRE3ITH 0.01 0 0 1 3 0 0 0 0 0 NIEER ER205E8 F 28R
Sl AR X =T\2TH 0.01 1 1 0 0 0 0 0 0 0 NEE ER20458 28R
ZE) HRRX $E2TH 0.01 1 1 0 0 0 0 0 0 1 1[Ik ERk2059H26H
HF) AN X AA1TH 0.01 1 1 0 0 0 0 0 0 1 1A ER2059H26R
RJI HESX WEITH 0.01 1 1 0 0 0 0 0 0 1 [IEER ERL205E9H 268
RJI AR X FE4TH 0.02 0 0 1 0 0 0 0 0 1 NEE ER21458H248
RJI HESX BE1TH 0.04 0 4 1 0 0 0 0 0 1 AER ER2158H 248
HF) AR X #FHEA4TH 0.01 0 0 1 1 0 0 0 0 1 1A ER21458 8248
& HEAX ZER4ATH 0.01 0 0 1 1 0 0 0 0 1 [IEER ER215E8H 248
JeiRJI HESX =TB2TH 0.01 1 1 0 0 0 0 0 0 1 1A ER21510A78H
&l HESX ZER5TH 0.00 0 0 1 1 0 0 0 0 1 [IEER k225 9R8H
&l AR X ERS5TH 0.00 0 0 1 1 0 0 0 0 1 1A 22598158
ZEEI HEAX FEEITH 0.09 4 7 0 0 0 0 0 0 4 7[AK ER22512A28
JeiRJI HESX +FIRATH 0.01 0 0 1 0 0 0 0 0 1 NEE ER225 12828
&l HEAX ZER2TH 0.00 0 0 1 1 0 0 0 0 1 [IEER ER22512A28
&l AR X ER4TH 0.00 0 0 1 1 0 0 0 0 1 1[A7] ER22% 12828
pRL N HEAX BR1TH 0.00 0 0 1 1 0 0 0 0 1 [IEER ER22512A28
S]] HEASX FAHSTH 0.02 1 1 6 4 0 0 0 0 7 5| A ERi22%12A2R
AR HESX AHA4TH 0.00 0 0 1 0 0 0 0 0 1 NIEER ER22512A28
NI HESX /MUATH 0.00 1 1 0 0 0 0 0 0 1 1[A7] ER22% 12828
=)l HEAX /MUSTH 0.01 0 0 1 0 0 0 0 0 1 NIEER ER22512A28
=]l HESX /MUBTH 0.00 0 0 1 1 0 0 0 0 1 1A ER22% 12828
=)l HEAX hIESTH 0.00 1 0 0 0 0 0 0 0 1 NIEER ER22512A28
=]l HESX Z¥3TH 0.00 1 1 0 0 0 0 0 0 1 1A ER22512A28
=)l HEAX #E4TH 0.00 1 0 0 0 0 0 0 0 1 NIEER ER22512A28
=]l H A X AH2TH 0.01 0 0 1 0 0 0 0 0 1 DT ER22%12A28




=) =
s[5 . BKERE| KT KT KL RE 3 FiE E37] E3E] &t &F -
AIRE | EmETH o7 ha)| B0 | (rrEwo | Gampn | gemsn | omm) | (emmo | Ges) | s | deso | (s RE BAEE
] HEASX XH#6TH 0.01 0 0 1 1 0 0 0 0 1 1]A7 ERi22%12A2R
IR HEAX X#7TH 0.00 0 0 1 0 0 0 0 0 1 NIEER ER22512A28
DRIl AN X EAFHATH 0.01 0 0 1 0 0 0 0 0 1 NEE ERR22%1282H
£ HRRX BEAH#STH 0.01 1 0 0 0 0 0 0 0 1 oK ERk22512828
[ AR X FHER A3 T B 0.04 1 1 0 0 0 0 0 0 1 1[A7] ER23%8H26R
i1 HEAX #HE2TH 0.09 0 0 4 4 0 0 0 0 4 AER ER235E8H 268
dLiR)I AR X % FK2TH 0.01 0 0 1 1 0 0 0 0 1 1A ER23%8H26R
Bl HRRX AR 3TH 0.01 0 0 1 1 0 0 0 0 1 1[AK ERk23%8H26H
Sl AR X B 0.00 0 0 1 1 0 0 0 0 1 1A ER245%5838
BRI HRRX B 0.00 0 0 1 0 0 0 0 0 1 oK ERk24%6H198
HF) AN X ) 0.00 0 0 1 1 0 0 0 0 1 1[A7] ER25%4H6H
YN HESX ENI&2TH 0.03 0 0 1 0 0 0 0 0 1 NIEER ER25%7H238
&R AN X LTHEATH 0.02 0 0 3 2 0 0 0 0 3 ALY ER25%7H238
YN HESX +TRE1TH 0.01 0 0 1 0 0 0 0 0 1 NIEER ER25%7H238
&R AR X LHAE3TH 0.01 0 0 1 1 0 0 0 0 1 1A ER25%7H230
BRI HESX hE4TH 0.01 1 1 1 1 0 0 0 0 2 2|AK ERL25%7H238
&R HEASX hE5T B 0.00 0 0 1 0 0 0 0 0 1 0[A7 ER25%7H238
BRI HESX BEATH 0.01 0 0 1 1 0 0 0 0 1 [IEER ER25%7H238
F HESX E%2RATH 0.01 0 0 1 1 0 0 0 0 1 1A ER25%7H230
HLF HESX R2TH 0.06 1 3 3 8 0 0 0 0 4 1Ak ER25%7H238
E3T) AR X EN2TH 0.02 0 0 1 1 0 0 0 0 1 1A ER25%7H238
I HESX EJI4TH 0.01 0 0 2 2 0 0 0 0 2 2|AK ER25%7H238
E3T) AN X #ES5TH 0.01 0 0 1 1 0 0 0 0 1 1[A7] ER25%7H238
HLF) HESX LHE3TH 0.01 0 0 1 1 0 0 0 0 1 [IEER ER25%7H238
HF) AR X FE1TH 0.01 0 0 1 0 0 0 0 0 1 NEE ER25%7H238
I HEAX HHESTH 0.02 1 6 0 2 0 0 0 0 1 8|AK ER25%7H238
E3T AR X FEA4TH 0.01 0 0 1 1 0 0 0 0 1 1A ER25%7H238
HFII HEAX HHESTH 0.00 0 0 1 0 0 0 0 0 1 NIEER ER25%7H238
e AR AR X TE1TH 0.01 0 0 1 1 0 0 0 0 1 1[A7] ER25%7H238
hE AR HESX TE2TH 0.03 0 12 1 2 0 0 0 0 1 14[AK ER25%7H238
e AR AR X TE3TH 0.02 0 0 2 2 0 0 0 0 2 ALY ER25%7H238
EREE] HESX ER2TH 0.11 3 12 2 4 0 0 0 0 5 16[AK ERL25%7H238
e AR AN X %E2TH 0.01 0 0 2 0 0 0 0 0 2 NEE ER25%7H238
EREE HEH&X %HE3TH 0.05 0 0 4 4 0 0 0 0 4 4K ER25%7H23H
e AR AR X %EATH 0.16 0 0 3 2 0 0 0 0 3 ALY 2557 H23H
bE R )| HRRX %AE5TH 0.02 0 0 5 5 0 0 0 0 5 5|A7K ERk255%7H23H8
i BRI AR X =HEE1TH 0.03 0 0 1 0 0 0 0 0 1 NEE 2557 H23H
EREE HEH&X =BZEXE2TH 0.11 1 7 4 4 0 0 0 0 5 11|AK ER25%7H23H
iE AR HEARX LE2TH 0.01 0 0 2 1 0 0 0 0 2 1]A7 ER25%7H238
EREE] HESX tE4TH 0.24 1 15 10 11 0 0 0 0 11 26| Ak ER25%7H238
iE AR HEARX LESTH 0.09 2 6 10 10 0 0 0 0 12 16[F17] ER25%7H238
HE AR HESX tE1THE 0.01 0 0 1 1 0 0 0 0 1 [IEER ER25%7H238
Sl AR X x2TH 0.04 0 18 3 7 0 0 0 0 3 25[ A7) ER25%7H238
Bl HEH&X 3TH 0.01 0 0 4 4 0 0 0 0 4 4K ERk255%7H238
Sl AR X HEAX1TH 0.00 0 0 1 1 0 0 0 0 1 1[A7] ER25%7H238
Bl HESX HEA2TH 0.03 1 10 2 2 0 0 0 0 3 12[AK ERL25%7H238
& AR X E;R3TH 0.04 3 3 5 5 0 0 0 0 8 RIS ER25%7H238
&1 HEAX YHET1TH 0.02 0 0 1 0 0 0 0 0 1 NIEER ERL25%7H238
&l AR X S HET2T B 0.03 0 0 1 1 0 0 0 0 1 1[A7] ER25%7H238
&l HEAX HET1TH 0.01 0 0 1 1 0 0 0 0 1 [IEER ER25%7H238
&l AR X HET2TH 0.01 0 0 1 1 0 0 0 0 1 1A ER25%7H230
&l HEAX ER4ATH 0.08 2 2 12 12 0 0 0 0 14 14[AK ERL25%7H238
&l AR X FER5TH 0.01 0 0 1 1 0 0 0 0 1 1A ER25%7H238
&l HEAX ZER6TH 0.10 0 0 5 4 0 0 0 0 5 AER ER25%7H238
Aaniblil H A X BR1TH 0.01 0 0 1 1 0 0 0 0 1 1[A7] ER25%7H238
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PR YN} HEA A X BR3TH 0.01 1 1 0 0 0 0 0 0 1 1[A7] ER25%7H238
AL HESX ZER1TH 0.00 1 1 0 0 0 0 0 0 1 [IEER ER25%7H238
pRY NI AN X ZER3TH 0.04 1 1 7 6 0 0 0 0 8 7] A7 ERR25%7H23H
AL HESX %R H4TH 0.01 1 1 0 0 0 0 0 0 1 [IEER ER25%7H238
pRL NI AR X EWLE3TH 0.03 0 0 3 2 0 0 0 0 3 ALY ER25%7H238
i1 HEAX HHE_-TH 0.01 0 0 3 3 0 0 0 0 3 3[AK ER2656H 248
A1 AR X #HE=TH 0.02 0 0 2 2 0 0 0 0 2 ALY ER265 68248
Sl HAAX tBW—TH 0.01 1 1 1 1 0 0 0 0 2 2|AK ER2656H 248
Sl HESX EIL=TH 0.01 0 0 3 3 0 0 0 0 3 3[R ER265 68248
Sl HAAX JLBWATH 0.01 0 0 1 1 0 0 0 0 1 [IEER ER2656H 248
Sl HESX tEWLWATH 0.02 0 0 6 6 0 0 0 0 6 6] ER265 68248
JER)I HEAX KREATH 0.00 2 2 0 0 0 0 0 0 2 2|AK ER2656H298
deiR)I HESX IR=TH 0.02 2 2 3 2 0 0 0 0 5 ALE ER2656 8298
JLR)I HAAX I RmETHE 0.02 1 0 2 2 0 0 0 0 3 2|AK ER2656H298
deiR)I HESX ILRATH 0.02 1 1 4 3 0 0 0 0 5 ALE ER265 68298
JER)I HAAX WE—TH 0.01 1 1 0 0 0 0 0 0 1 [IEER ER2656H298
deiR)I AR X WER=TH 0.00 0 0 1 1 0 0 0 0 1 1[A7] ER2656 8298
JER)I HEAX KREETH 0.01 0 0 1 1 0 0 0 0 1 [IEER ER2656H298
AR AR X LTHABATH 0.01 0 0 1 1 0 0 0 0 1 1A ER2757H248
)1 HEAX B5T B 0.01 0 0 1 1 0 0 0 0 1 [IEER ER275ETH 248
)1 AR X A7 TH 0.01 1 0 1 1 0 0 0 0 2 1A ER2757H248
JER)I HESX JtiR4TH 0.02 2 0 2 2 0 0 0 0 4 2|AK ER275ETH 248
deiR)I AN X KES5TH 0.02 3 0 3 3 0 0 0 0 6 3[R ER2757H248
JLR)I HAAX XE6TH 0.03 1 0 3 4 0 0 0 0 4 AER ER275ETH 248
&)1 AR X MmE1TH 0.01 0 19 1 6 0 0 0 0 1 25[[A7] ERR27%E7H248
EEN HESX tmER2T B 0.01 0 0 1 1 0 0 0 0 1 [IEER ERk275E9A8H
i BRI AR X %EITH 0.01 0 0 1 1 0 0 0 0 1 1A TERR27%E9H8H
EREE] HESX TE3TH 0.01 0 0 1 1 0 0 0 0 1 [IEER ERk275E9A8H
e AR AR X %iR2TH 0.00 0 0 1 1 0 0 0 0 1 1[A7] TERR27%E9H8H
Sl HRBX #2TH 0.01 0 0 1 1 0 0 0 0 1 1[AK FERk27%9H8H
NI HEARX hE5T H 0.00 0 0 1 1 0 0 0 0 1 1]A7 ER28%8H21H
BRI HEAX LHRE4TH 0.00 1 1 0 0 0 0 0 0 1 [IEER ER29%8H 198
I HEASX B5T B 0.00 2 2 0 0 0 0 0 0 2 2| A ER29%8H19R
)1 HEAX B 7 T B : 1 1 0 0 0 0 0 0 1 [IEER ER2958H 198
e AR HESX %E3TH 0.01 3 3 0 0 0 0 0 0 3 3[R TERR29%E8H19H
Sl HRRX t#%3TH 0.00 0 0 2 0 0 0 0 0 2 oK ERk29%F8H 198
PN HEASX BR2TH 0 0 1 1 0 0 0 0 1 1]A7 ERi29%E8 19
AL HESX ZR”RAH5TH 001 0 0 1 0 0 0 0 0 1 NIEER ER29%8H 198
PL ] HEASX BEJITH : 2 2 0 0 0 0 0 0 2 2| A ER29%8H19R
PN HESX HEEJI2TH 3 3 0 0 0 0 0 0 3 3[AK ER29%8H 198
DRIl AR X TE6TH 0.00 1 1 0 0 0 0 0 0 1 1A ER29%8H 19
ZE] HESX HE2TH 0.17 0 0 1 0 0 0 0 0 1 NIEER k29 10H22
&R HEASX HR7TH 0.00 1 1 0 0 0 0 0 0 1 1]A7 FRk29%E 10822
BRI HESX BE4TH : 0 0 1 1 0 0 0 0 1 [IEER k29 10H22
&R HEASX hET5T B 0.00 0 0 1 1 0 0 0 0 1 17 FRk29%E10H22
HF HESX HE3TH 0.01 1 1 0 0 0 0 0 0 1 [IEER FERk29%E10H22
BERR ) HEASX TE4TH 0.00 1 1 0 0 0 0 0 0 1 1]A7 FRk29%E10H22
JLR)I HEAX KHE3TH 0.00 0 0 1 1 0 0 0 0 1 [IEER k29 10H22
B HEASX %F2TH 0.00 1 1 0 0 0 0 0 0 1 17 FRk29%E10H22
Bl HRRX piE2T H : 1 1 0 0 0 0 0 0 1 1Ak ERk295 10822
Sl AR X ME1TH 0.00 0 0 1 1 0 0 0 0 1 1A 29510822
BRI HRRX TRE1TH 1 1 0 0 0 0 0 0 1 1[Ik ERk30%E8H27H
&R HEASX MEA4ATH 0.00 2 2 0 0 0 0 0 0 2 2| A R30S H27H
BRI HRRX %4 H4TH : 0 0 1 1 0 0 0 0 1 1[Ik ERk30%E8H27H
SR HEAASX BE4TH 1 1 0 0 0 0 0 0 1 1[A7 ERL30E8H27H
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SR HEASX HE1TH 0.00 1 1 0 0 0 0 0 0 1 13 ERk30E8H27H
EREE HESX LES5TH 0.01 3 3 0 0 0 0 0 0 3 3 ERL30E8H27H
e AR AN X =HXE2TH 0.00 2 2 0 0 0 0 0 0 2 2 R30S H27H
ER H A X BE1TH 0.01 0 0 2 2 0 0 0 0 2 2 Fri30FE8H27H
iE AR HEASX %EITH 0.10 8 8 0 0 0 0 0 0 8 8 Epk30E8H27H
ER H A X BEATH 0.00 0 0 1 1 0 0 0 0 1 1 Fri30FE8H27H
EAR )| AR X EAESTH 0.01 1 1 1 1 0 0 0 0 2 2 R30S H27H
JEiR)I HEAX FIB1TH 0 0 3 3 0 0 0 0 3 3 ERL30E8H27H
JEiRI HEASX FiZ2TH 2 2 0 0 0 0 0 0 2 2 Epk30E8H27H
JEiR)I HAEAK 23T H 0.01 1 1 0 0 0 0 0 0 1 1 ERL30E8H27H
JEiRI HEASX BE2TH 1 1 0 0 0 0 0 0 1 1 Epk30&E8H27H
JER)I HESX +ALiR1TH 1 1 0 0 0 0 0 0 1 1 ERL30E8H27H
dLiR)I AN X #EKITH 0.00 0 0 2 2 0 0 0 0 2 2 R30S H27H
Bl HRRX #=1TH 1 1 0 0 0 0 0 0 1 1 ERk304E8H27H
&L AR X #E5TH 1 1 0 0 0 0 0 0 1 1 ERL30E8H27H
Sl HAAX x1TH 001 1 1 0 0 0 0 0 0 1 1 ERL30E8H27H
Sl AR X k2T H ’ 2 2 0 0 0 0 0 0 2 2 R30S H27H
Bl HEH&X 3TH 1 1 0 0 0 0 0 0 1 1 ERk30%E8H27H
Sl AR X HEAX2TH 1 1 0 0 0 0 0 0 1 1 R30S H27H
Bl HRRX HEAX1TH 0 0 1 1 0 0 0 0 1 1 ERk30%E8H27H
Sl AR X HEAB2TH 1 1 3 3 0 0 0 0 4 4 R30S H27H
Bl HRRX EiR1TH 0.01 2 2 0 0 0 0 0 0 2 2 ERk30%E8H27H
&L AN X =EiR2TH 0 0 1 1 0 0 0 0 1 1 ERL30E8H27H
J=nn]l HRRX =R3TH 0 0 1 1 0 0 0 0 1 1 ERk30%E8H27H
& AR X HHEI1TH 1 1 0 0 0 0 0 0 1 1 ERL30E8H27H
& HEAX FE2TH 0.00 1 1 0 0 0 0 0 0 1 1 ERL30E8H27H
&l AR X ZFER4TH 3 3 0 0 0 0 0 0 3 3 ER30E8H27H
&l HEAX #R4ATH 0.02 7 7 0 0 0 0 0 0 7 7 ERL30E8H27H
pRYINI] AR X BR7TH 1 1 0 0 0 0 0 0 1 1 ERL30E8H27H
AL HAEAK EILS3TH 0.03 3 2 0 0 0 0 0 0 3 2 ERL30E8H27H
XN AR X E4H6TH 2 2 0 0 0 0 0 0 2 2 ERL30E8H27H
NI HESX HE1TH 0.00 1 1 0 0 0 0 0 0 1 13 ER30EIR1TH
ZE] HEARX EJISTH 0.02 0 0 1 1 0 0 0 0 1 1] SHTEI0F12B~13H
YN HESX HR7TH 0.00 1 1 0 0 0 0 0 0 1 1 SHTEI0F12H~13H
NI HEASX HE1TH 0.02 3 3 1 1 0 0 0 0 4 43 SHTEI0F12B~13H
)1 HAAX EJISTH 0.01 0 0 1 1 0 0 0 0 1 1 SHTEI0F12H~13H
7)1 HEASX FEEITH 0.02 2 2 0 0 0 0 0 0 2 2 SHTEI0H12B~13H
520 HEAX HHE1TH : 0 0 1 1 0 0 0 0 1 1 SHTEI0F12H~138
HLF HEASX EB1TH 066 10 10 11 9 0 0 0 0 21 19 SHTEI0H12B~13H
HLF) HEAX Ei82TH : 1 1 2 2 0 0 0 0 3 3 SHTEI0F12H~13H
HLFI HEARX EJII4TH 0.04 2 2 0 0 0 0 0 0 2 2 SHTEI0H12B~13H
HLF HAAX EWA1TH : 2 2 1 1 0 0 0 0 3 3 SHTEI0F12H~138
HLFI HEARX tHE2TH 3 3 2 2 0 0 0 0 5 5[k SHTEI0H12B~13H
AFII HEAXX HE2TH 0.50 1 0 2 1 0 0 0 0 3 1Ak SHTEI0F12A~13R
SF HHASX HESTH 4 4 3 3 0 0 0 0 7 7Rk SHTEI0F12A~13R
S| HHASX =iR2TH 001 0 0 1 1 0 0 0 0 1 1Ak SHTEI0F12A~13R
Sl i & X $AHE5TH ’ 0 0 1 1 0 0 0 0 1 1Ak SHTEI0A12H~138
A &AL A X BR8TH 0.01 0 0 1 1 0 0 0 0 1 1[AK SH3E3[ 136
LS it B & X A1 TH 0.01 0 0 1 1 0 0 0 0 1 1 SF3F3F13H
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